& TBIA
Y80 PrF faaad “[FT- 3 o/
Total questions : 100 Total marks : 100

1) How Karim has solved the problems---?

1) are really difficult
v 2) astounds us all

3) actually wonderful

4) really nice

4T : How karim has solved the problems ( astounds us all - 3 55 61| T

AR AR ST PRCZ, 0T AR ST BGND P |

2) IR 1 IR TIRH #[ fasa @rd o= I11?

!

N

v 3) Al

w

)
)
)
)

-

I - <1IIrQ‘_9 T 18IS d¥EE A AT I | A - Vb, KK (Y, DIRT-5000 |

3) TTRI x FI3eT Q51 y HIRe {RF WO PACO PO TOT FASIIA?

v 1) y/x IO
2) x/y IO
3) xy T
4) x+y Tl

AT : X HI3 QO ST AW 1 GBIy " 1 y/ x DT

4) 923G @19 70 (O TS QAPT 2

AT & HG A0 IR - FRIFAR 10 GO ST SAS0! BIASCAT 02- T
SIRPT PR, TP Al |

1L, TGP AT,



5) (e SRR I o=l A2

v 1)

2)
3)
4) SRCT5T

AL
ey
ST

AT : T TR SLHT 70 BLATR R O e SRATIAET | R, 0, €, Q, DY, DO, ¥4, O,
V... 20 | AT ST T |

6) Jerry was only four years old. (Negative)

vl
2
3
4

Jerry was not more than four years old
None but Jerry was four years old
Jerry was not four years old

No one but Jerry was four years old

N— N N N

I : only YR negative O, not more than or not less than <

7) TR @TafD orgem 514 -

1) V2

2)

3) V11
v 4) SRS

AT+ T SR YT 2 (R A HLAT QASCECP JI0 7T AR WA 2P 1 A T |
e SR AP TP 2P IR (BB A IR 2] IO I ORIE-3 (AT IJ, T
(MagffdPol (recurrence) Gl T 1|

8) FIBTR B IPeT = STl RIFACR B I

AT 2 DTN TIPSR I 1Tl RIFACR B 267 FRGHAICOT | TR ALHARP ST 993 g
©d SR o7 BIP WRCHICHT1 I | PIFR IR SYRNG @RS wo (60C0) TR
JRZR 341 IR |



9) The word '‘ambiguous is the synonym of
1) alien
2) dangerous
v 3) dubious
4) certain

AT : ambiguous=3AF5® dubious="H2Gd®

10) PIGK IHTE (AT 6?2

AT : IR IS (AT dT TGS T | BCE, IGHIC PIGH (AN ™ ¢
I (1 T2 4 72R) |

11) He gave me a dress which was expensive. (Simple)

1) He gave me a expensive dress.
2) He gave me a dress and it was expensive.
3) He gave me a dress expensive.

v 4) He gave me an expensive dress.

14T : Simple sentence 9 a3 T4 finite verb P UL expensive JJ 7 article
an 3057 | 3018 53F B8 - He gave me an expensive dress.

12) 5v5 «3 5 [ofGP =151 307?

v 1)3/2
2) 2/3
3) V5
4) 5

—5(1+1/2)
—5(3/2)

50,5V5 W3 5 i =151 3/2



13) 5% S FREYaPS SGHLIL FRHHI @ BeTaq?

QAN = T AT F39Y T AT (SIFIR 3, Y90 - TG &, Y»a8) feTd I8 PrAfoRm 132
SIEHREAT TR FHADA | FSA YHLY (AT YD e *RIS TIHADBRA AR 2T PR |

14) (OISR I1 FT IEA?

1) What does your father?
v 2) What is your father?
3) What your father does?
4) What is your father doing?

74T : What is your father? (oraK I[T [ @d? what is your father doing? ora<
IRT B FAR? T 70 @ | 3P B - what is your father?

15) fabd RPTATe SIS SLRTS AFANATN?

1) IROR
2) IG5
v 3) FITT'RT
4) T

AT 2 AT @T YIRS FAIRS TR fRTe TIHARY FR 5 Q79 “WmRAT Ffawfae v
FAfE |« TS SFISR \3 T XA | V1Y MRS AP TR \3 IGOR T |

16) GO 2V AETPL AP I3 (PTAD?

AT 1 VO TR, 05Y GO AT G P I3 "P-3-F" I (TGP BCHH T  |

17) How did you come by your lost watch? Here come by means----

1) quicken
v 2) get



3) lose
4) mend

AT : Come by - “M3YT, AFAAON |
Get - 2MaT|

Lose - <ICAT|

Quicken - 9|

5P BW - get.

18) Alice went to market with a view to (to purchase) -- a dress.
vl
2

3
4

purchasing
purchase
purchases
purchased

S— N N N

A : with a view to YPCET verb+ing X[

19) (8x) © + 8x 0 3 T19 favw @0 ?

v

w N =

9
8
26
2

I
N N N —

A : (8x) 9 + 8x 0
=1+8.1
=9

20) ORI (T ORT (AP AT5T9?

1) R2f%
2) fare

v 3) *ofrs
4) T

TN 2 'CORIRT ' AT TOIRB NG5S O (WP AGTE | ARG5S ST (AP DTSTG AF 9 AT
g > 2T AR, AT , WeaiR, 516, orrE, 511, oSt Imefo |

21) T GSNOA & ST

v 1) omed
2) e



3) 112

4) T

AT 2 ARETCT 8¢ T J-(5TT IR I | 97 T AT BAGG TSI FoAAHI | 2TE
TGO (HITTO RIS (GIETT< PHISTE B SR I3RS I |

22) GPTA IR AR S 1% 27 17

AN : T IR Sy 5@ 20 a1 TR ITeet 31 4To] SO Y Tl PTG akieie Qrst
P FFAI2 51O P12 | QTHA . "MW - G (WT9) + (F (RSfr) | AT TR 20 51 241
@ad . 59 + © = 53, 36 + wifx = 3onf

23) What is the synonymous word of "augment"?

v 1) Increase
2) Calm
3) Segment
4) Beautify

I : augment=3& Increase=3

24) (Y SIS G T |

1) He does not know to swimming.
2) He does not know swim.

v 3) He does not know how to swim.
4) He don't know swimming.

I : know U< 91K verb @I verb + ing d1to + verb IR R AT GO know +
how to + verb AT acmsy 77|

25) GNP X (PTAL?

1) Fral
) ot
) TIP3
)

W N

v

o



AT = (TR <=7 RICIFT AT T AT T (S0 AT T I T, TR XA Cep 7 I¢e | (T -
ST, F5d, d1<F, PP, &1, 1, AT 3031 |

26) 5SNS FEW IRATTCR FIAOMZ AR - (WA FAHT-205b DG

1) d,b0 FIiPd G
2) 5,958 FRPd TN
v 3)>,a¢R FIiPd TN
4) 5,944 FIPd TR

AT : HARG FCET AR AT TR - (AAARGP FEAPFI-205b TAGIN)-,A¢R NP G| |
Fq1rforg fGfGi9r- 5, waq J1fd TeT |

27) fFPT T F10o e s

AT : 15 TP (AT, FICO] FIR 73 BR(POA IR 33 5T &78 7L do T o% <1 J1ft iy
J1a1ce 31| aft IO QL ORI STEI IS A |

28) TUTF (G b3 (T AR LT A2

AT 2 TIFRPY IO IR AT JHT TR o AT 5G| A5 AT AR SoACTT5T
IACO AP AT COTSy (G IRTR T 2 197 TCA (R @IECEHIA (@S I |

29) TTPCA (I JROT PILP SRR ACSATDAT T



MY : AOG : AP IT QTP KA NURTGP SFAT ¥ 0ol T, X AT 71 27 0 /
morpheme | STO P X | GR Oy XFTog(@ 910G / Morphology I 2 | X_og 1

NG TG R XT3 AR 5104, TR TTe, 57224001, 364, o=, Torssy, Rofe, agfo 9
AT, YTg, 20N, TG, B/, 5F/F9, I, ST, e Zonf |

30) SO0 T PIUR TRBO?2<

YT : STHOL IR APTD ATH I COISITP TR | 91 \3 TR - o IR THA A Fo I
TANCH AR Taom 2071 e STaottd SREE |

31) 4 X *+1 = 32 3 x U< TF PO?
1)1
2)1/2
3) 2/3

v 4) 3/2

g : 22+ 1) = 25

22x+2 = 25
>2x+2=5
>2Xx =3
>X = 3/2

32) 2O 71 ST SRR DY F1?

1) 2210
2)@1“—%@%{
3) DeTH

)

v 4 watﬂﬁawq

AT 2 TG OIS - ISR WL AT - ST IZOT, FEPHCT AT TEPHC | DIFATOIR (T3 - ISR
O AT - TP 7 | P BB - WAL 75T |

33) AT FRR @19 COT TREG?

v 1) ARARACS
2) AR



3) GRCO

4) %

AT = AN AT SRR T, (FRTE® 172 TRPTICHISTO BRI CHI\3 DTS
I BT | R00b HCE IR XMITH T "MRATCT FAR" AT AP0 ORI PIOICAR Sy
RrFTeTe Brord faeia a@d|

34) fabd @A 538’ U3 oPRo \3 2oR?

1T : Ry 8 RoTwd s1iea "Ro" 2o 1 @& - VTS + 75 = 15, I + 5 = 1o, 916 +
5 = FToR5, B + f5 = TIR5 |

35) "Ry G2 T GO’ - APITL Sahs (@I

1) R g2 THPHT
v 2) R g2 T I
3) R g4 TCoAFT QI
4) RA1d g TFT QRO

AT 1 "R ST IO ARPYDR &ap o - R 2 3T G |

36) Money is sweeter than honey. (Negative)

1) Nothing is as sweet as money and honey.
2) Money is not as sweet as honey.

v 3) Honey is not so sweet as money.
4) Honey is not sweeter than money.

MY : Than T& comparative PP negative <O subject + verb + not + so +
adjective + as + sub |

37) Orthita as well as Obhnibesh (to be)--- attending the party.

1
v 2
3
4

are
is

been
have been

)
)
)
)



AT : As well as a9 “[(4 noun/pronoun IR subject 2| 370418 subject "Orthita"
singular 28I verb \3 singular ( is) |

38) SR SICH TIPS I ?

1) Cu, O
v2)N,O
3)N, 05
4)N 205

TN 2 STIRPL ST 2T AT GICOER QPT0 TG [ A7 2P0 N20 14 ST AR ARG
AR 27 IR ARLOT AP YA J@od 518 PR T PR BT 2T | AT QP AP
SYITSY ACET |

39) o foaes ‘fod Fan’ a7 foaed @2

M ; RO 'Tod T adced DA ITeTd TP 571 | SRIgA WM KA
P T | TSI - 80 , T - 90 , 5T , FEOTT Aefs | 'Fies 3sf fHam afsvias
O A5 O STl TR AR | O ARG I T AR Y IIGITs

40) 530 SRR SIS 7 QI TSNS 84 | 54N 7307 uPTh 42 T W[ 30
1) 21
v 2)14
3) 28
4) 7

AT = WO SR = F0 SRATK 5150 x .5, SAAB0 5T
=7 x 84/42



MY ; S >R AL XA, A0y, TP, ©I, ©od, AP, ©F, Ao, T, S, T,
AR, TG, ARPOR | [O0534 - AN 1T P4 3 fafeifis, 27 49

42) {353 @1 DI SFIABT ¥ ({37
1)

2) TiRdl
3) A
) O

TN : o7 FRI6F > IAC0 B FY I6F XX @R | fT07 FY 63 *XCH FAEAT 2FF 6P <R
241 | (THA- SO, 0T, RO, (TmsY, 5%, Rk, T 3oy |

v

N

43) It 414 @ AP AT AP TS O CPapey Po?

1l)a?3

v 2) 6a 2
3) V(6a ?)
4) 6a

QYT : TARL €14 @ QPP A, TAPL SIS O CP APy = 6a2

4) FPESR FHID @R 512 fasa @it ?

1) aR0°
2) q0°
3) dbo°
v 4)0vo°

AT : TOGSH BRI (PR TAR 0vo°.,

45) Upoma came here late. Here "late" is --

adverb
verb
adjective
noun

2
3
4

vvvv

TN ; late <00 verb "come" & modify 02| Adverb I@R verb @ modify 3|
SJoA1R late. W30 adverb.



46) JCB T (@19 90 [GIa[ T2

AT : OB RCEL (1T 8 A1 AT VWo° |

47) n SRR RS AT TP P9?
Dn2+1
2)n

)
) n

3 n2+2

v 4

T = AT N FRATP RCGTG MORIF TR TR N 2

48) ¢ A TR S IRBTAT 516 = GPIIR?
1

R

)
)
)
) BT

v

N

AT : HTACH (TR AT FEETTE B IRFIMET \3 \3TT T591 SRS TR SRGTEI SLandd I
TAZ |

49) Where There is a will, there is ----.
1) a path
2) many ways
3) a well-wisher
v 4) a way

A : Where There is a will, there is a way= 351 ARFeT B9 27|

50) “Rocet et 27'- “Rocet’ @19 IR @Td [efe?

1) PHPRC A

2) WM PR A
3) WGPV PIRCP A
4) PV PR A

v



T : T A g [T, 5210, T, [7o, TIRE 31766 20 Q3R T 6TY 3% B0 37 O
@WWQ@IW-%{CWC R

51) | saw him going to market. (Compound)

1) | saw him to go to market

v 2) | saw him and he was going to market
3) I saw him who was going to market
4) |1 go to market which he was

T : present participle & sentence (@ complex IO IPH finite verb @ tense
9 AT present participle & G tense W *RAGA IE verb 3 “[& subject 7t TR
JIA and 50O 2 |

52) x > 0 Q32 X 2 = 4x T X O Fd P10 ?

AT = (O3 A2,
x>0

94,

x2=4x

or, X2 | x=4

or, x=4

53) S W (F AT PEA?

1) Rc@ wem @ar
2) (TG

/3)3‘@‘7%
) TR

N

M : SRRCER A3(d) IR TAGIRN ARG HLHACR WA WK FRA | O G- SIS
Riesies Ta AFARS 5725 B0 3 ©Res A1 |

54) A --- in time saves nine.

1) saving
2) penny
3) money



v 4) stitch

I : A stitch in time saves nine. & JEEF AT (PG, WA P (PG |

55) fat @1 AT @ ?

NGl

1)
) qifeafe
)
)

N

T
I

3
v 4

T 2 ITETIP I1TafD =% |

56) a, b, ¢, d TN TS T B @1ET HOP?

1) @IA3 3
2) ac = bd
v 3)ad = bc
4) ab = cd

AT = a, b, ¢ 3 d FHP FTFIAOD

a/b = b/c = c/d
a/b=c/d
ad = bc

57) @57 -3 RoAe <19 $1?
Itz

) -

2) X

3) SRR
4) AT

v

—

AT : WD A< R0 =7 - 3235 | o1 U3 Rofdio <131 - fHaoT | 5orald 1 [Rifrde <= -
SN |

58) A wearer knows where ---,

1
2
3
v 4

a man goes
the pain disturbs
he is right

the shoe pinches

SN— N N N

I : This means that it's hard to know how much someone else is suffering.



59) 60 Tid RICAL JKT 42 Td QP PC A L PO ?

1) 32%

2) 25%

v 3) 30%

4) 28%

AT : 60-42 = 18

60 QK T ATH I 18 ©d

1 BAF TS 2151 9 18/60 Td

. 100 (AR FS 15 I (18 x 100)/60 T
=30 Gd|

60) The antonym of the word "dishearten" is --

vl
2
3
4

encourage
develop

discourage
ameliorate

)
)
)
)

AT : dishearten=3o™ IT encourage = SR GG

61) T TP fTQOR T x 132 THWT y T [T @S0 CFawel PO AJ?

1) x 2 + y 235/ 9@
2) xy Isf AT
v 3) Y% xy I5f 93P
4) Y% (x 2 + y 2) 357 930

AT : ST TTGSR CFAP = 1/2 x G x Bl
=(1/2 X X X y) Is( 93>
= 1/2xy I51QFF |

62) 'The fire is out'—3IIFIVI TG B1?

AT : 'The fire is out'—ST ZROE (WG |



63) 'The children who play near the garden water the saplings. Here water is
a -

1) adverb

2) noun

3) adjective
v 4) verb

AT 1 A, water= sTCg ffd G\o |

64) ST T TR'— I3 PR B AJ?

MY : SSHT T TR - FISHT | FIGH NI Y - G FLO S0, OI5TRTd 2051 (278 XTH1D
Q3o RiemaT om |

65) JCTA A1 A1 S1 (@F 200 51 Tt @A ?

—

) SIS

2) @13 T

v 3) SR
) QTR

T = OB AT AT ST (@H 09 HNAGLIO! |

N

66) The synonym of "abandon" is--
1) join
2) try
v 3) leave
4) keep with

I = abandon=>1kayst I
leave =715 31

67) To carry coal to ----.

1) Lahore
2) England



v 3) Newcastle
4) Narayangonj

A : To carry coal to newcastle-CoaT JIYR (o7 (1\3T |

68) Log 5 8 17 T1d fatbd 11D ?
1)1

|\
YN E
5w N

A 2 10g2(8) = 3, PRT2"3 = 8.

69) UL ORI TR S, A (OB | I CFAD 294 I5f TR I, AR 3972

A = 47, oF = x oW
Wt =1.5 x ™OR

94,

x* 1.5x=294

or, Xx~2=294/1.5
or,x"~2=196

or, x=14

s = 1.5%14= 21 O
AR = 2 (TS x 2%)
=2(21+14)=70 30w

70)Y° [ g % TR A PO A »Y GIRPR 57 dbr TIPT A?

v 1) VIR
2) 8 4=
3){)/{3-5@
4)IH



AT+ AT S0, | = Pnr
7, Ob = DUXNXE/8x D00
0, N =Y

d,n =9

71) Rome was not built in a day. (Active)

1) People were not build Rome in a day

v 2) The Romans did not built Rome in a day
3) The Romans were not build Rome in a day

4) A day was not built by Rome

I : past indefinite W< negative passive IPP active PO sub + did not +
verbl + sub & obj + extension structure b TR IO TJ|

72) “RSFR01 (@ (712(d (N3 IaZ, 1 RoMI'—a IR PV’ 93 9L @072

R

2) &1

v 3) Rafe
4) 2>

T = AF S CRQ PR ©R B I Q7 T TE 17 F300 T 1 & 7AW a7 T S 7157 AT
Rom 1, TR R |

73) R AR AR fReS3aR @72

AT 1 7L TR SIOR AOIP « 73 MO {0 LA NI TR SIFAd XM O} B2 O o
I ST AT IqF O R AT R T I ORpT foG3d - rape] 5|

RSO IR HCAISTH . SIS I TR 7 ICST FIAD A | OB B2 @I SIT2SToa!
AT, fb @11 "SRR’ 3R I8 R AT 2 0 3@ @t 8 0 o/t | Reeizar - « ud 9
AR |

74) ~Rpfd Jrar a3 W f5?

1) e JT&
2) SIS T



v 3) Pop! Tl
4) e =

AT+ <TPiel AT TR WY PO RoT=0T IR | g *pd IR IIRA 9 QY PoIfasy=ofd G
AR fP5T QBT IR AR | @A SATGd GCK TATGT X TSRO « XIPid FER Pofaor
IRE 2@ FAORG AD0T TG 9 TR A |

75) bPasior 3P @1a0?

1) ancaTTRpfersy
2) S A T
3) o

v 4) afes

AT : DA GIRATHT TR ITHCGL LT He XA 24T I | fSH s 7o orefs
e &6 3 afest GTRIHRPET I3 GIRAIGR 123 A AfR6T | TR §e7o ficad TeeTies
I T AP | HGE 2GS PP 21 IR, #A111, SPEe 738 21T (T8d 25 I3 SRR
QRAbE [AaTd |

76) GO IR T T il POI07?

AT = TP UL ORCOK 391K Ty o[1ow SseAaE arl 11 witod anik 51T ¢sfo |

77) WIPO < 5] 1% (IR ?

A : The World Intellectual Property Organization - WIPO WIPO currently has
191 member states, administers 26 international treaties, and is
headquartered in Geneva, Switzerland. The current Director-General of WIPO
is Francis Gurry.

78) A man is known by the ---- he keeps.

1) words



v 2) company
3) contribution
4) relatives

A : A man is known by the company he keeps - 33&E oM A1 T - 575
T (TP (1 T | 53F 6 - Company.

79) STYIIRCO T *WID AR 2 dA1?

TR
Ry
&

AT

v 1
2
3
4

~_— ~— ~— ~—

AT 2 SYAIRCD SRATH \3 PR o 1\3 TR IR0 2 Q3R 1Y A0S QRR “MI0< TP 2T
oI

80) fT IR TS TGO 3 -2 | I8 {U CFaPeR WMo fb @1div

1) 3:4
v 2)9:4
3) 2:3
4) 4:9
AN = /A PR, O AL 11 3R r2
~rifra = 3/2
= > ri?/r22 = 9/4 [I5{ ]
= > Mri?/mr2?2 = 9/4 [J03I CFaPa]
= > nrmnr2? = 9:4

81) 205t ST AR (ST I TS T2

AT 1 2050 QPRI (5757 ORI WkefeTs I3-F ot efftscanistar R (STacR Yoo WS 1
ORI (5Ta5 205, ARG IRITTTOIR TR ARG, ABTONS SIPTOT-ATETIR 205 a3
SffIfDT UL TT 05 AT Sbr TSFL (AP L GLHI *RIE AACARRI G0 AT =K SPTOT \3

T TGO 27|




82) AT T STATH?

1) 74
) QKRG
3) TRy
v 4) IR

N

AT : AT RO A1 RCR TSR 27”31 ReTy 1 ROTTSRIHE S10R @ 15 7,93 @
SHAICH 2RVCH T3 AL A AOTTHT 2 OIP AT FATH A | Q FACH T IS
o1, R 5 azo =01 @Fa-Biez B30 arsa=fiease , SivT @ o= ST, gze! @
PRS- , 59 @ qAN=HA 30517 |

83) ‘TP WHPH I A’ fAw3 @Taid @z ?

1) Por
Q>
IO
oy

N

)
)
3)
v 4)

AT : BATFRR BRI PR IR @ - POG |
SETd (@3 IR - (@ |
TGP WP IR @ - POY |

84) TGAY 3T SST APRG AOR 1A ?

AT : I \3 GR]IET KO 4T 2K O3 AR & (T : G + 0T = I |

85) (a 1) -1 Wz 91d faw3 @A ?

MMM :(a-1) -1 QIFF=(1/a)-1 =a



86) a+b,a?2-b24ydka 3 +b 3 I NA.SIO?

IIT - 53Q AR5 P,
-b?2

= (a+Db) (a-b)

and,

a3+ b3

=(a+b)3-3ab (a+b)

87) TN (ST ORES [ief?
1) 23

1)

v 2) 5IR

3) QGITe

4) #M14R 51\3fe
AT : TCNEA 734 T TP AR IR0 vz et | TeNER FIRTEOR , @R[ \3 TSTA5K
AT T SR AT 5130 | (AITTSRTGIR (SR i S AT fpameT e e
TSR JRMTRT T e 2131 2181, T1 8RS \3 2P0 S0E T3 ©Ior 2y 5p1fRfbo
| RGeS e qf31s16; (ST A5 TREG |

88) What is the noun form of include?

1) Inclution
2) Includeness
3) Inclusion
4) Includement

YT = ' Inclusion' is the noun form of Include.

89) | helped her solve the problem. (Passive)

1
2
v 3
4

She was helped solve the problem

The problem was solved by my

She was helped to solve the problem by my
Her problem was solved by me

S~— N N N



4 : Bare infinitive T sentence (@ passive IO 0bj.(@ sub + was + verb3 +
to + verb + obj + by + sub 13 objective form |

90)a:b=4:793b:c=56%Ta:b:c a3 Fd@ED?

1)5:6:7

v 2)20:35:42
3)20:30:37
4)4:7:5

[T : a:b=4:7= 20:35
b:c=5:6=35:42
a:b:c= 20:35:42

91) 250 U 10% IJ TG TO?
1) 50
2) 75
3) 100

v 4) 25

TR 1 250 97 10% IR §Id=250%(10/100) =25

92) I’ QL ‘BT I ?

v 1) BT0 0K BT
2) BTG TR 5T
3) BTG TS T
4) BTG TICOA 5T

AN = IAA" QIR "OT" BTG S 28T | BT TN BTO SIS (FIRA, GIA-3, U3 BT, 1R
Ul |

93) Sin6=4/5 X, Sec © I [ FEIL ?

1) 3/5
2) 5/4
3) 4/9

v 4)5/3

I - (\30T AR,
Sin6=4/5
GIdl J09,



Sin~206+Co0s™26=1
or, Cos6=v(1-Sin"26)
or, Cos ©6=V(1-16/25)
or, Cos 6=V(9/25)

or, Cos ©6=3/5

Now,

Cos ©6=1/Seco

or, Sec©6=1/Cos ©

or, Sec6=5/3

94) TATAT AT (PTF FAATHACDP L& P ?

) AGATTP \3 TR FAASK
2) LATGP \3 TR HASA5K
3) ©RW \3 213 FIHI5IK

)

—

v 4) 2PT3 TSI \3 ALATOP F2TAT5K
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T = = g
TG = = ST

50! = = O
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e R = = RER
0P = = ANOP
H%eT = = TWBY
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B Rd = = THRa
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T = = @R
2P = AP
2RI = = QR
P = = O
RS = =
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1) Do you know where does he live?
2) Do you know where he is live?

v 3) Do you know where he lives?
4) Do you know where he live?
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